H & 0l & AHS B Ml A

SA: AST
A =) 2F A (AEISXI/=)
el FHEE e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,777,470 7,496,138 1,281,332
= 5,529,900
== 795,090
Al 2,452,480
A & M (ARISRI/FH) 8,496,300 7,352,320 1,143,980
= 5,529,900
< 795,090
Al 2,171,310
FHEd e 8,496,300 7,352,320 1,143,980
= 5,529,900
== 795,090
Al 2,171,310
FHREMNA 217,280 300,280 /83,000
201 2= 280 280 0
01 AtR2t2lt] 280 280 0
OFe ot A4l Rol
280& x105+1000H 280
207 ARl 19,000 19,000
01 H2E4H| 19,000 19,000
ORTA ARREE YA Z2lHE 2
JENEEIEE- L
19,000,000 * 14 19,000
401 Al HIZ R 0HHI 98,000 200,000 A102,000
01 AlZ8| 98,000 200,000 102,000
OO0ITHE! BAIEE S 21 & 0l
9,000,000 *2JH 2= 18,000
OlddUIgs S3FUE ZgAe
80,000,000 *1IH 2 80,000
402 2IZtA=01d 100,000 100,000
01 QI X2 AL E R (KM TH) 100,000 100,000
OflY UM (2xs 3N)
2,000,000 *50= 100,000
SSTH NEAME 832,220 713,140 119,080
201 2= 40,160 40,160 0
01 AtR2t2lt] 40,160 40,160 0
OUNEE U £2A43 SHEHIANS &
S=g 100,0003 #5& *23] 1,000
OSSFH2C| Exs &R HH+=E
100,000 5 & »23] 1,000
OSSFE A=A 38,160
—RIAZALLY (HSAL S HAL ERALHS
Ak, Z=EH2ECIAL)
300,000& x6 & x5 +42] 36,000
—IAZA OH] ¥ W SH]
90,0003 x6 & *43] 2,160




FA AFL
Ma: 0| # ONA (S =X /EE)
el FHEE e (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
301 LtENZ 4,860 3,780 1,080
11 SAFILI XIS 4,860 3,780 1,080
OBSFY el BN L B 98 2
Al 9,000 %182 »302] 4,860
308 AXIHMSOIA 4,200 4,200
183 S| 2SO Z&HASAIE 4,200 4,200
OZsFeae| us(2) 4,200
~UFET HESlS PHY DS
700,000& *62] 4,200
401 Al HIZL 201 83,000 75,000 8,000
01 A&l 83,000 75,000 8,000
OARR TEFH IXF
6,250,000 * 1291 2 75,000
038 ANdE A= s
4,000,000& * 171 223 8,000
402 SI2EXH=201 S 700,000 590,000 110,000
01 QIIN A EZ (XM THR) 700,000 590,000 110,000
OSS=eExZ3 IS (2elthat 60%, I
22| CHAY 80%) 700,000,000 x 14 700,000
gt 29 11,500 11,500 0
201 fer23| 11,500 11,500
01 AtR2t2|HI 11,500 11,500
OS&E+t 11,500
— LG 100,000 72 %102 7,000
—IAZA 0| 90,000 x5&H *102] 4,500
(2)=AH=20 6,850,000 6,240,000 610,000
= 5,480,000
< 685,000
Al 685,000
301 2PEN= 5,800,000 5,040,000 760,000
= 4,640,000
=S 580,000
Al 580,000
01 Al EE AL S(FREXM) 5,800,000 5,040,000 760,000
O=eDIzdEzH(FHSA)
5,800,000,000& *14] 5,800,000
= 4,640,000
= 580,000
Al 580,000
403 TS =01 1,050,000 1,200,000 150,000
= 840,000
= 105,000
Al 105,000
02 S7I2S0 e H=E 2 E AL 1,050,000 1,200,000 150,000




SA: AST
A =) 2F A (AEISXI/=)
el FHEE O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ox=dR XS0 1,050,000,000& *14] 1,050,000
= 840,000
== 105,000
Al 105,000
(2)Z 04U ZFEDIHZALS 34,200 34,200 0
= 17,100
== 5,130
Al 11,970
401 AIEHIZ R 0HYI 34,200 34,200 0
= 17,100
= 5,130
Al 11,970
01 A28l 34,200 34,200 0
OFOfQIFE THE KA
3,800,000 *9IH 2= 34,200
= 17,100
= 5,130
Al 11,970
(D)ERR ANESZ OIRKAAY 40,000 50,000 10,000
[ 20,000
Al 20,000
307 glztol & 40,000 50,000 10,000
S 20,000
Al 20,000
08 OIXtE2& =S 40,000 50,000 10,000
OUERT GXESS 0IANE At
40,000,000 *14] 40,000
= 20,000
Al 20,000
(2)O0IAHI XA 2,400 3,200 /800
= 1,200
= 360
Al 840
301 EetE2 N = 2,400 3,200 A800
= 1,200
= 360
Al 840
01 Al EE A2 (2RNEXMR) 2,400 3,200 A800
OO0IAEl & 2= X3
400,000 x6 It 2,400
= 1,200
= 360
Al 840
(C)FEUERRENXZ AL 169,200 0 169,200




SA AFY
B 3 8 N (AFSI= R /e)
291 FA8S HA (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 84,600
Al 84,600
301 EtE NS 169,200 0 169,200
= 84,600
Al 84,600
2 MBI BHHAGS(HAHS, L) 169,200 0 169,200
OBHAERLEN TS A
169,200,000 *14] 169,200
=S 84,600
Al 84,600
NEItset I 29 300,000 0 300,000
207 AR 300,000 300,000
01 HESHI 300,000 300,000
OXEIlset FHIEH 28 8 EY
0,000,000& *14] 300,000
(B)SEFAASFIHHNLA 39,500 0 39,500
= 31,600
Al 7,900
307 gl2tol & 39,500 0 39,500
= 31,600
Al 7,900
02 QB AANEER 39,500 0 39,500
OsSEFHAASTHMNEA
39,500,000 * 14| 39,500
= 31,600
Al 7,900
A (FELXANL/XALEAI) 46,056 39,202 6,854
gd8et AFAF 46,056 39,202 6,854
SYAES U5 43,526 36,672 6,854
101 ©1AH| 32,096 25,242 6,854
M ORNZZ2NSE S 32,096 25,242 6,854
OA=ssSUE Motz 29 oFY
80,2403 x1H 200! 16,048
Od=E= FLEFIE 82 & JUlAE =8
80,2403 x 12 *200 16,048
201 er=23y| 11,430 11,430
01 AtR2t2|HI 11,430 11,430
OAZTH THTY (RS 3F)
470,000 *14] 470
OReA=s A =45
500,000& *22] 1,000
OA=RAR3 9,960
—Sl A ag
100,000 x20E 32! 6,000




SN ASD
HH: ASHF(IELXSNL/XHLTAI)
&Pl JEE AFHHE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
— AR AAF &Y 30,0002 x20% +33] 1,800
—2 &4 0] 90,0002 *8 % *33| 2,160
STAHESAL 2,530 2,530 0
201 YEr=2 Y| 2,530 2,530
01 AR 2:2IH 2,530 2,530
OSTUES &AUS Z2 & YOI0IE
1,200,002 %13 1,200
OA=2e THTY(SIHIEX 2 43)
700,000 %124 700
OBZA=EE Mal R0
1502 %142 +3000H 630
HHSAZHI(AS D) (DIEH/DIE) 235,114 104,616 130,498
pIEl] 107,714 104,616 3,098
J|=3H| 107,714 104,616 3,098
201 YLErR Y| 32,234 28,5% 3,698
01 Al 22|t 32,234 28,53 3,698
O=AEX 7
20,0002 %198 A %122 4,560
OS20K4HI 9,000 *7A1x 19 * 122 14,364
oYtz 100,0002* 12& 1,200
OARR TATRUY 50,0009 122 600
OA7A2 $4Y| 9,230
—=SADI(HE) %2l
1,000,00024*1CH 1,000
—Zelg 2 100,000 5§ %50/ 100 250
—=2 A El 200,00024 %53 *1CH 1,000
—ZD2IE EL(SY)
200,00024 %53 *5CH 5,000
—H2IH EH(Za)
20,0002 *53] *1CH 1,000
—PC 2 10,0002 * 19CH*20/100 380
—JIEF 2] 50,0009 122 600
OJIEH ALR2t21H]
10,0002 *19% * 128 2,280
202 01| 70,680 71,280 AB00
01 ZLHOIHI 70,680 71,280 AB00
OZL{01H] 20,0002 *19% * 12U * 128 54,720
Ozl 120,000 1927 15,960
203 YR =AY 3,600 3,600
M PASHYLFTY| 3,600 3,600
ORN2IY2EAI
30,0002 * 122 3,600
204 X4 A 1,200 1,200
01 AL LAY 1,200 1,200




SN AST
M AHH2HAHI(HAF) (DIEHIIE
&t JI=Z (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
SEEECEEE LT
100,000 x1H* 123 1,200
elA2d| 127,400 0 127,400
Q2| 127,400 0 127,400
101 eI 4| 127,400 0 127,400
02 JIEtA E 127,400 0 127,400
OXNSAFOIMHE RU2AEIIF B (Al2hS
EHHIADIN LiZ) 127,400
=Jlgs 54,132,000 *35/40%1.03+2H 97,573
Lk
275,000 & x35/40+ 128 +2H 5,775
—ZASAHI 150,000 123 x2H 3,600
— SRR
54,132,000 +84%x5%+*1.03x2H 4,684
— DA
4,065,539 x80%+*1/302 x 122 1,032 2,882
—ANZt2l==
12,8443 %1 .03+x30A| 2t 123 x2H 9,526
— S+ (A
40,0003 x 123 2% 960
—IIE=L(EHM) 30,0003 123 +2H 720
—IIEE=Z(EM) 70,0003 x 128 *x2H 1,680




